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QUESTION 1

A client is concerned about their x86 database I/0O response time. Further analysis reveals significant I/O wait delay.
How is the IBM Z architecture better equipped than the x86 architecture to address this specific issue?

A. It leverages the VRIO (Vector I/O) to control I/O wait.

B. It leverages the 1/O subsystem to manager 1/0 wait.

C. It leverages the VIO (Virtual I/O) to eliminate 1/0 wait.

D. It leverages zlIP processors to speed-up I/O wait.

Correct Answer: C

QUESTION 2

A customer starts using z/OS Encryption Readiness Technology (zERT) to gather knowledge about the state of
encrypted network traffic in their system. They also use Sysplex Distributor, so there is TLS-encrypted traffic routed
through the distributor systems to application hosts. The distributor systems also host TLS-encrypted TN3270 services
for the network.

They started gathering data from the Sysplex Distributor hosts, since encrypted traffic is routed through those systems.
A large number of encrypted TCP sessions seem to be missing from the customer\\'s analysis.

What does the customer need to do to gather full analysis data?

A. Start gathering zERT data on all z/OS systems in their environment.

B. Configure the zERT collection correctly on the Sysplex Distributor hosts.

C. Move the collection of data to the z/OS application data hosts.

D. Move the collection of data to the network routers neighboring the z/OS systems.

Correct Answer: D

QUESTION 3

The IBM z14 has an Integrated Firmware Processor (IFP), which is used to manage native PCle features.
Which groups of native features are managed by the IFP?

A. zHyperlink Express, zEDC, FICON Express 16s

B. Coupling Express LR, RoCE Express2, ICA SR

C. Crypto Express, zEDC, Flash Express

D. zEDC, RoCE Express2, Coupling Express LR
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Correct Answer: D

Reference: https://books.google.com.pk/books?id=xiZODwAAQBAJandpg=PA470andlpg=PA470anddg=IBM+z14
+has+an+Integrated+Firmware+Processor+(IFP),+which+is+used+to+manage+native+PCle+features.
+Which+groups+of+native +features+are+managed+by+the
+IFPandsource=blandots=0R7ztx5SFgandsig=ACfU3U2zO7mmaivOizB93yxng6PJDvePDQandhl=enandsa=Xandved=
2ahUKEwiV4Zgeqo3mAhUDU1AKHSEYA-AQ6AEWAHOECAKQAQ#v=0onepageandq=IBM%20z14% 20has
%20an%20Integrated%20Firmware%20Processor%20(IFP)%2C%20which%20is%20used%20to%

20manage%20native%20PCle%20features.%20Which%20groups%200f%20native%20features%20are%
20managed%20by%20the% 20IFPandf=false

QUESTION 4

Which statement regarding IT Economics Studies is correct?

A. Depending on the scope of the study, there may be charges for the customer.

B. The IT Economics Practice is present in North America only.

C. An IT Economics study focuses on business value, technical requirements, and cost.

D. The customer will receive a final report, an executive summary, and a business case for a small charge.
Correct Answer: C

Reference: https://www.ibm.com/it-infrastructure/services/it-economics

QUESTION 5

What customer records are required to quickly assess system performance in a z/OS environment?
A. RMF report showing FICON channel statistics

B. Network TCP records

C. SCRT records

D. SMF type 70 and 113 records

Correct Answer: D
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